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20174£8A 198 (£) ~8A208 (A)

RE—Ex
B‘EUV S BELHRES
H A+ i 147 2 {7 37 4{r 57 6 {ir 77 8L
8/19 100m |fHiE Wl (2) 10.96 |JIlEs BEE (1) 11.36 |#iAK EA (2) 1142 [0k R (2) 11.47 | KEE —pk () 11.60 |[EA BEZ (2) 11.65 Al # (1) 11.68 | &8 Kk (1) 11.74
B -1.2 |A¥Ed -1.2 |JIZiT -1.2 |AEde -1.2 |zt -1.2 W4k -1.2 | SRS -1.2 | R -1.2
8/20 200m |fHE B (2) 21.66 |EA BEZ (2) 22.66 |UTHE  m7E (2) 22.89 | WG (1) 23.06 [#nA  EA (2) 23.21 [H4H  MER (2) 23.45 | K& —pk (D 23.50 |fHiE  #HE (1) 23.67
B ERLES +1.2 |45k +1.2 |JIZiT +1.2 |JIlZiT +1.2 |55k +1.2 |2 +1.2 |#5 +1.2
8/19 400m |@A O (2) 49.84 | RIG (1) 51.20 (A E W (2) 51.55 |[EA BE% (2) 51.66 (£ L KK (2) 52.19 [EA 4 (2) 52.49 [H4H  MER (2) 53.36 |ITHE K7 (2) 54. 45
HE JIZiT iR EES RG] ARk Ak Ak
8/20 800m |KE #F (2 2:01.78 [FF E HEK (2) 2:03.54 B W (1) 2:04.87 |\fEk  Eh (1) 2:07.01 |Eff (4 (2) 2:09.69 |A)II HET (1) 2:10.80 =)l E{H (1) 2:10.81 |FHiE Bt (1) 2:27.61
HiE Ak IR Ak JIZiT HrE R Btk BrE
8/19| 1500m |&¥ HA 1) 4:02.07 % BERZ (1) 4:04. 18 |50 FEIK (2) 4:04.81 |fHiE  FHiIk (2) 4:09.71 | 24 (2) 4:14.04 |EH TR (D) 4:14.47 [ SC—BB (1) 4:16.43 |FR WL (2) 4:16.92
Ak Ak Ak HrE HrE R HrE R Btk I
8/20| 5000m |4l i (2)  15:33.86 |fEJL MR (2)  15:40.84 |BUEE RERK (1) 15:50.40 |ESH R (1) 16:15.38 [ i (1) 16:19.97 |FRA FEA (2)  16:45.17 [MNAE WSr (1) 16:47.94 [V OB (1) 17:05.47
HE IR Ak HrE Ak ARk =5 AR
8/19| 500 0mW | k& At (1)  29:34.11 |23 & (2)  33:53.66
FEET iR L
8/19| 110mH |[f)Il HEE (2 16.42 [P Kt (2) 16. 89 | K78 W (2) 1717 | KRB (2) 18.95 K& A R3E (1) 19.40 JAAR R (2) 19.47 |HE 2 1) 19.81 |H6H Bt (1) 21.65
(1. 067m) EES +0. 1 | HJE e +0.1 |JIIZiL +0.1 |JIIZiL +0.1 |JIIZiL +0. 1 |7 IER +0.1 | 5iAM +0.1 |41RM +0.1
8/200 400mH |[&R ol (2) 56.85 |f1)Il FEIT (2) 58. 18 A 164 (2) 58.48 | =k A (2) 1:00.79 |HJII K& (2) 1:01. 15 | K74 o (2) 1:02.17 |3-JE KM (2) 1:02.25 [P BKAE (1) 1:02.76
(0. 914m) B [EES Aiadt L% JIIZIT JIIZIT B E I ERGi
8/20 300 0mS C|&EF MR (1) 9:42.88 | FHIKk (2) 9:46.75 |REIL BHE (2) 9:49.80 |#&WE fit (1) 10:30.33 [FRE  HE5L (2)  10:31.01 B%E 5238 (2)  10:33.66 [JIJE At (2)  10:33.66 | Ak #EF (2)  10:33.67
(914mm) Aiad BRI A BRI Aadt B e LR B E I JIlZIT
8/19| 4 X1 00m |4iad- 43.32 | BrJEIE R - 43.59 |JI|Z7T- 43.60 |5 HU4E- 44.64 | 5TR7E - 45. 34 |7 e - 45.93 | AR L. 46.30 |5 7ATE - 46. 54
Mg s (2) WIE K (2) gk Al () W KAy (2) EHh ORE (2) A A (2) oE Wz (2 w2
7 Wk g (2) Pk sl (2) gk EA (2) B BRI (2) WA mEs (1) KB KR (D WA 2 (2) HE sER (D
HH HER (2) JIFE el (1) IR e (1) X (1) B R (D HAR R (2) WA Kt (2) HH OB (D
JIEs B ) R W (2) KiE —m ) =B A (@) Wk k— (2 JFE mE @ A meE (1) PR BAE (D
8/20] 4X400m |HEEH- 3:25.17 |4 AdL- 3:29.00 |JIl:ZiL- 3:31.05 |4 A74 - 3:31.49 P55 3:34.30 |4 UG- 3:37.71 IR - 3:44. 58 | - 3:49.91
+ Pk sk (2) SRR (2) IR e (1) (A (Y NG (A = e G =& (@) A A (2) HA E (2
W K (2) HH MER (2) AR EA (2) e K (1) W Bk (2) X R (1) G KR Q) Ot Bl (1)
JIFE sk (1) kMR (2) gk Al (D) B ORE (2) = BE (2) I EE (D KB HKR (1) PR OHEL (2)
ER R (2) AR £ (2) REE —p (1) R R (2) A BEZ (2) i KAy (2) g Rt (1) kM (2
8/20 & ek NHE A (2) 1m75 | ARM — (@) Im75 |k K22 (1) Im70 |#Eh  RFAE (D) 1m65 [sF4 kA (D Im60 |filij 2=t (1) Imb5 |#h)E A&M (1) 1m50
JZir [E87 = A (22 JZiL ABT Hm T
8/19 W Bk Al A (2) 4m00 |FEJR  WE (2) 3m00
JZir JIZiL
8/20 A Bk JIK Pl (1) 6m40 |REF HEk (1) 6m24 |XiH A (1) 5m99 |H B KHE (1) 5m94 |1l BEK (2) 5m81 |FAA  ZE (2) 5m80 |IEH  —F (2) 5m67 |HJII ZEE (1) 5m60
BRI +0. 7 | HE +1.0 |5 R +1.4 | AR +0.8 | 4Rl 0.0 |41 T +1.0 |5 0.0 |JIlZiL 0.0
8/19 =Bk JIK Pk (1) 13m62 |l HEK (2) 12m64 |21 K (1) 12m50 |1 BEE (2) 12m43 [HE  #HE (1) 12m25 |HA fEE (2) 12ml4 |XiHE (1) 12ml4 | KRB HR (1) 11m86
B R 0.0 |4iadk +0.5 | AIRTH 0.0 |85 0.0 |4iadk 0.0 | /EuerE 0.0 | AR 0.0 |HrfE e 0.0
8/20 i AL ARk (2) 15m25 |HH  HE (2) 12m88 |EHH &S (2) 12m39 |11 Fach (1) 12m21 |¥% Pz (2) 11m35 [FG)11 KMt (2) 1m0l |HifE  fziE (2) 10m94 [fif = K— (2) 10m73
(6.000kg) |5 iaYIME ERELILES AR AL AT AT {e17 AR
8/19 MR ARk (2) 40m35 |HiH  HE (2) 37m83 |EHM & (2) 36m79 |E5 Fic (1) 29m90 | K& 5 g (2 29m32 [HiE Wz (2) 28m68 |45)11  Kh (2) 27m51 | KB SR (2) 27m50
(1. 750kg) |4 iaHifk AR AY6TE AR HrE R AT AT Hrhm R
8/19| »nr~—# |AM KEE (2 62m47 | KB $RK (2) 3m42 |[REF EH— (2) 34mo8 =k A (1) 26m90 [E5(Li Fnd (1) 25m25 | K BF o 24m10 [ILA  #CK (2) 23m97 | )1 A (1) 19m89
(6.000kg) |4 iaHifk B [EES FIFIET AR I [EES T
8/20 /4 FROEE (2) 42m91 |7k 5 (@) 42m90 |ILA  #HOK (2) 42m67 [ - OK— (2) 12mi2 [HA RiE (2) 40m57 [fElE B (1) 40m30 | FHHE 5& (2) 39m83 [Jlkf  #E (1) 35m57
(0.800K g)  |Hrmimes BRI [ES AR TJE i1J5 +Jm L]
N 1253 S
100m—E R Bk AL F-400m
110mH-=2 ¥ #&—E EBk-1500m
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RE—Ex
B‘EUV S BELHRES
H £+ fEH 1 {ir 2 fir 3L 4z 5 fir 6 fir. 71 8 fir
8/19 100m ARz HY (2) 12.48 |RE TME (1) 13.07 |35 # (2) 13.10 [0 B (1) 13.61 | #AHE (2) 13.69 | 5% s (1) 13.73 |1Em  fE4 (1) 13.75 | *FH £ (2) 13. 86
R GE -0.4 |4k -0.4 P4 -0.4 |HEIEE -0.4 |4k -0.4 | HEH -0.4 | HEIEHR -0.4 |4 HPsE -0.4
8/20 200m Az HY (2) 25.54 | A HAHE (2) 26.38 |5 # (2) 26. 74 |AAFEIME (2) 27.43 [¥0 HE1 (D 28.09 |&E IFTME (1) 28. 13 |t i (2) 28.54 |G FKk (2) 30. 13
R CE +1.1 | AR +11 | PSR L1 | 2R H11 R +1.1 | AR L1 | L1 | 2R +1.1
8/19 400m |[AH #EE (2) 1:00. 14 |1EM &3 (2) 1:01.78 |5 # (2) 1:02.38 |HAEHE (2) 1:04.25 | A H 9 (2) 1:06.36 |ty #& (1) 1:07.32 |E [ B (2) 1:08.85 |EHBILKT (2) 1:09.97
Akt Akt P S =5 =5 BRI JZiT I P
8/20 800m |BA L (2 2:20. 32 [/hEpEdZE (2) 2:20.90 [BEWO Y (2) 2:23.01 VNI ELE (1) 2:24.27 |G EWL (D 2:29.40 WL #HE (1) 2:31.63 |HIH KA (2) 2:37.12 [JIE 2T (D 2:37.74
BRI H LIPS BB A Aiadt BRI Aiadt LIk BRI
8/19| 1500m |[WA #HE (2 4:40.01 |V B (1) 4:43.24 |G AR (D 4:47.31 [WPEF DD (2) 4:51.31 /NI FLEE (1) 4:53. 42 /NEFRELZE (2) 4:54.37 |FI R (1D 4:59.13 |F)Il Kz (2) 5:04. 18
BRI H B Akt BRI Aiadt [EPS JZiT BRI
8/20) 3000m |HBE M (2)  10:22.81 |[PHJE EH (1) 10:24.74 |E4E A& (1) 10:26.36 |@iE  EAL (2)  10:36.18 /NI AR (2)  10:42.01 /MNP Bk (2)  10:49.82 [1UN 266 (2)  10:57.70 |fJI1 SBE (1) 10:57.72
BRI H B A6t BRI Aiadt BB Aiadt JZiT
8/19| 500 0mW | AA BEJ) (2)  30:41.17 |85 JAFE (1) 34:44.56 [T KIC (1) 36:04.25 [#hiH  3E6E (1) 38:04.35
Aiadt B I B I BT A
8/19| 100mH |k HE (2 16. 71 [l % (2) 16. 91 |/NBF L (2) 17.40 K £33 (2) 17.93 |@ff & (D) 18.41 [IAR R (1) 18.71 [#aK A (2) 19.67 [ HETF (2) 19.75
(0. 838m) =5 40,1 | Mgk 10,1 MR +0.1 |5iRT 0.1 =8 +0.1 |5iRT +0. 1 | BRI +0. 1 |4 i +0. 1
8/20| 40 0mH |/NEF L (2) 1:11.43 |HH EE (2) 1:12.24 |lh@ % (2) 1:14.06 |y @R (1) 1:16.39 |TF[ 3EH (2) 1:19.33 [[hm WA (2) 1:23.29
(0.762m) | HiE AL BXCL] [EPS HrE R ENCLE] PRI
8/19] 4X100m |4¥adt: 49. 44 |75 5% 52.72 | =5+ 53.89 |JI[:ZiL- 54.64 |5 VRFE 54. 73 |HrfEiEH- 55.90 |4 Hf1% - 56. 09 | HfEiE - 56. 76
RKE OHEME (1) +f H¥EZ (1) KiE HFE (2) B B (2) AR #RE (1) EAs @R (1) Wiy HAFE (2) R MEZS (1)
" HE ZER QO INEFERLZE (2) BAazRE (2) HE B (2 F 2 (2) HEH & Q) I EM (2) TR EME (2)
IWAREBY (2) i % (2) AH KK (2) AR (1) M R (2) ERM e (1) W50 Jh¥e (2) MR HER (2)
CELE ) BE O (2 il 2K (D) Kb aE (D EEPN (2 gk KH (2) Mk omET (2) wH E (D
8/20] 4%X400m |4t 4:04. 37 |3 EIRH - 4:19.55 |FE5c- 4:20.15 | =k 4:28. 44 | 3BT - 4:28.58 |4 VATE - 4:32.65 |5 VAFE - 4:34.26 )12 4:38. 88
+ ER 23 (2) ks R (1) +8 A¥EZ 1) mfE L ) HEIBEEAT (2) i E SRR (2) B R (2) B 2 (2)
IAZHD (2) WA fEE (2) INEFERRLZE (2) =i EH (2) HEH O OERE (2) PR O3EA (2) A R (D B B (2
o EREET (2) WEHWDY (2) i 2 (2) Ak (2) B (2) Ba B (D Ml N (2 AFnfEF0m (1)
AH HEE (2) BB T (2) BE B (2 AR (2) R EEE (1) R KA (2) OB (2) Kbk & (1)
8/20 s AFnfEFDm (1) 1m50 |1ERM] 3 (2) 1m50 |#&% EHE (2) 1md5 [P AddE (1) 1m40
JIZiLt ERiEE Rl AR
8/20 ARk ME ER QO 5m55 [ EBEET (2) 5ml5 |FH KWL (2) 1m63 | HEH A (1) amdd IO EEE (D 4m40 | & (D 4m37 |k R (2) 4m36 {0 1= 3ERE (2) 4m23
Aiadt -0.3 | 4Rk 0.0 |4 Hh% 0.0 |HrfEe s -0.1 |JIZiC +0.5 | 4R -0.1 |4iRF 0.0 |4i67H +0. 4
8/19 =Bk Ml E& (D 1ml4 | EBEE T (2) 10m57 |SEH £ (2) 10m52 A P (2) 9ms2 ¥ & (1) 9m49 Il EHEE (1) 9m13
Aiadt +0.4 | 4iAdE 0.0 |4 Hh% 0.0 |5I6M +0.1 | 516 0.0 [JIlZiL +0. 1
8/20 Tt HE Wz (2) 10m30 [F)1 #iJy (1) 10m03 A By (1) 9m65 | WA (1) 9mo8 |HEIEE  HEEE (2) 8m86 Bkl KH (2) m96 [ Ak K (1) m8l | S HKE (2) m19
(4.000kg) | &G HARER H ERELINS B T AR AR BNl ERELIN
8/19 MR HE Wz (2) 30m96 |41 #iJy (1) 2Tm20 [FEAR BTy (1) 25m01 |BkiL ZRHEL (2) 22mb7 | P E (2) 22m45 || B (1) 21m91 [AKF HKE (D 21m24 [fiFF  HKE (2) 20m79
(1.000kg)  |AiHTE HAER H ERELINS AP AAER= T BNl ERELIN
8/19| Nr~—FF iHE HKE (2) 38m70 [HEA BTy (1) 27m90 [HER  FJh (2) 20m40 |30 FiFE (2) 19m38 |FKIL RHE (2) 16m96
(4.000kg) |4 iGHITE ERELINS B )= AR
8/20 /4 w0 Fi () 256m64 |[H3  HifE (2) 25m32 [ K76 HFE (2) 23m86 |WHIEE  AEFEE (2) 22m79 (MR EY (2) 18m99 |JEH 1&F (2) 18m26 [l FE (1) 17m91 [IUA K (2) 15m02
(0. 600kg) HAfAR B =5 AR BRI Rl BRI AR
ERRE | gy
100mH-7E & Bk—Fi AL F-200m
AEMRBE-> Y $-800m




